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		Question # 1 :
Estimate f'(x) , f''(x) for each xk ,, k=0,1,2,3,…10
[image: ]The output is in this table

		Question # 2 :
Estimate the integral
[image: ]



Moving in the code
Introduction
This project contain 6 files the most important one is project4.m
When doing run do run to this file ( ok ). This is the code written in it
[image: ]
Note that " a "  is the beginning of the interval while  " b " is the end of it .
Note that this line
s=traprl(a,b,10);
will call the code in the file traprl.m
[image: ]here's the code of this file which will compute the integral using traposoidal formula







Note that this line
s=simprl(a,b,5);
will call the code in the file simprl.m
here's the code of this file which will compute the integral using simpsons formula
[image: ]
 
note that this line 
s=gauss(2,3);    will call the code exisi in the file gauss.m
which will compute the integral using G5(f)..
this is the code
because the line is to long I put it in a notpad so that to see it clear
[image: ]
[image: ]






Note that this line
 s=first_derivative(x,0.1) 
will call the code in the file first_derivative.m
here’s the code of it which’ll compute the first derivative of the integral
[image: ]
Note that this line 
s=second_derivative(x,0.1);
will compute the second derivative of a point by calling this function exist in second_derivative.m
[image: ]
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S=h7 (£ (a) +£ (b) +475142752) /3

disp('TTTTET this is the integral simpson formula TTRTTTTETIITT)
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function quad=gauss (a,b)

cuad= [ (b-a) /2) % [£{ (ath) 0. 5+0.5% (b-a) *0.9061798459) *0.23692 68851+ | (ath) *0.5+0.5% (b-a) * {-0.906179845¢
disp('##¥77% this is the integral using GS FRessssrsssss!)
quad -*
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[function quad=gauss(a,b)

quad=((b-a)i2)"(f((a+b)"0.5+0.57(b-a)"0.9061798459)0.2369268851 +f((a+b)*0.5+0.5%(b-a)"(~
0.9061798459))70.2369268851 +1((a+b)*0.5+0.5%(b-a)"0.5384693101)*0.4786286705+f((a+b)*0.5+
0.5%(b-a)"(-0.5384693101))*0.4786286705+1{(a+b}*0.5+0.5%(b-2)*0.0)0.56868888888);
disp(***** this is the integral using G5 **~searsxat)

quad
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function s=first_derivativela,hl
5= (£ {ath) £ (a-0) )/ (27H) 5
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function

second_derivative(a,h)

5= (£ (ath) -2 £ (a) +£ (a-h) ) / (hh)
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f(x) dx
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cle
format long

;b3
disp(**erre ;y newe is Vala Qasim Al-Remoni FEFRATIIETEAT)
disp('®erere ID ;1080223 srrrrrenazaan)
disp('##77%% instructor nawe Hani Kebajsh  TRessrssassasi)
disp(iier)

raprlia,b,10);

auss (2,3)
disp('##¥77% this is the first derivative for the nodes starting from 2, 2
for 0.1:3
s=first_derivative(x,0.1)
end

disp('##7%% this is the second derivative for the nodes starting from 2,
for x=2:0.1:3
econd_derivative (x,0.1);

end

1,22
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function s=traprlia,b,m)
b= (b-a) /ms
s=0;
for kei: (n-1)
x=athri;
s=s+tix)
end
S=h (£ (a) +£(b) ] /2+h7s;
disp('*e¥TT this is the integral using trapozoidal formula

sarrrrenazany)




